10: English Part 1 Test Series Name Time 1:30

Q1: Choose the correct Option:

1. Locusts attack in the area of?

(a) one miles (b) two miles (c) hundred miles (d) fifty miles
2. Why did they throw wet leaves on the fire?

(a) to make it more acrid (b) to extinguish the fire

(c) to burn the leaves (d) to burn the insects

3. The locusts came from the?
(a) west (b) east (c) north (d) south

4. How many patches of bared soil were there?
(a) 22 (b) 23 (c)7 (d) 8

5. The smoke was raising from the myriads of .
(a) “smoke (b) dust (c) fire (d) locusts

6.0ld Stephen yelled at the houseboy.
(a) stroke (b) shouted (c) pointed (d) fell

7. A strange darkness, for the sun was blazing.

(a) Darkening (b) eclipse (c) vanishing (d) burning
8. Locusts were crawling everywhere.

(a) running (b) beaming (c) creeping (d) sleeping
9. This devastated and mangled countryside was not ruin.

(a) Ruined (b) vast (c) cultivated (d) populated

10.What then was ruin?
(a) work (b) cut (c) desolution (d) population



Q2. Translate Into Urdu

The main swarm isn’t settling. They are heavy with eggs. They are looking for a place
to settle and lay. If they get a chance to lay their eggs, we are going to have everything
eaten flat with hoppers later on. He picked stray locust off his shirt and split down with
his thumbnail, it was clotted with eggs.

Q3. Explain these lines with Reference and context

We are hollow men

we are the stuffed men

leaning together

headpiece filled with straw, Alas!
our dried voices, when

Q4. Write an application of “ change of subject”

Q5. Answer any 5 questions
a) What was the desire of every farmer?

b) How much Harry charge for a hair cut?

c) How many barbers there’s in ok-by-the —sea?
d) What is the theme of the poem ( Ozymandias)?
e) Who was Ozymandias?

f) What are locustus?

Q6. Write any 3 pairs of words

Gambol Gate Gentle Gracious Humane
gamble gait genteel graceful human

Q7. Punctuate these lines...

Is it bad asked Margaret fearfully and the old man said emphatically we are
finished
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Q2. Translate Into Urdu

The main swarm isn’t settling. They are heavy with eggs. They are looking for a place to settle
and lay. If they get a chance to lay their eggs, we are going to have everything eaten flat with
hoppers later on. He picked stray locust off his shirt and split down with his thumbnail, it was
clotted with eggs.

Q3. Explain these lines with Reference and context

We are hollow men
we are the stuffed men
leaning together
headpiece filled with straw, Alas!
our dried voices, when

Q4. Write an application of “ change of subject”
Q5. Answer any 5 questions



a) What was the desire of every farmer?

b) How much Harry charge for a hair cut?

¢) How many barbers there’s in ok-by-the —sea?
d) What is the theme of the poem ( Ozymandias)?
e) Who was Ozymandias?

f) What are locustus?

Q6. Write any 3 pairs of words

Gambol Gate Gentle Gracious Humane

gamble  gait genteel  graceful human

Q7. Punctuate these lines...

Is it bad asked Margaret fearfully and the old man said emphatically we are finished

Extra 11 class english mcqs

10. A Mild Attack of Locusts
Q.1. Choose the correct option for under lined word.

Statements A B C D

1 | They all stood and noticed | examined | looked saw
gazed. fixedly

2 | The farm was ringing silence peace noise disturbance
with the clamour of
the gong.

3 | Oppressive it was, too, | heavy big cruel thin
with the heaviness
of storm.

4 | It was a half night, a natural unnatural | perfect deep
perverted blackness.

5 | The sun was blotted covered | vanished | appeared spotted
out with fresh
blackness.

6 | They were throwing bitter thick sweet strong

wet leaves on fire now,
to make it acrid and

black.

7 | Looking out, all the good healthy strange weak
trees were gqueer and
still clotted with
insects.

8 | Then came a sharp sharp locust hoper voice
crack from the bush. noise

9 | The sunlight comes straight | bent chopped misshaped

down distorted, a
thick, hot orange.




10. | The boughs of the trees | stems branches | leaves flowers
weighed to
trees ground.

11 | Through the hail of shower line cloud members
insects, a man
came running.

12 | The old Stephen yelled | called shouted jumped slung
at the houseboy.

13 | Looking out, all the covered | loaded full fighting
trees were queer and
still clotted with
insects.

14 | Piles of wood and grass | floods dams acres heaps
had been
prepared there.

15 | The boughs of the trees | came struck went pulled
weighed to
trees ground down

16 | Why did the cook boy | to collect | to seethe |to call the | to kill the
run? any bit of | locusts

metal labourers insects

17 | How did the locusts one by in swarms | in groups in

attack the crops? one
formations

18 | Locusts attack in the one ten fifty one meter

areas of: kilometre kilometres
Kilometres

19 | What made the boughs | fruit locusts birds wind storm
of the trees weighed to
the ground?

20 | How did the land look | all green | beautiful | barren devastated landscape
after the locusts had
moved to south?

21 | The locusts are heavy size eggs stomach weather
due to:

22 | Who ran to beat the old | the Stephen cookboy Margret
ploughshare hanging houseboy
from a tree branch?

23 | Who first saw the the Stephen cookboy Margret
locusts? houseboy

24 | How many patches of one three five seven
bared soil were there?

25 | Locusts are just like: sun storms clouds bad weather




